(HPAZRAH)

S0 5 FEE EHTEHE AL ERE BALEH | &% 54 58 12 0
= B B 5 A - 002 |T = &2 hhRERt X R EEEEETE

FE A A% (Bidk) 5,370, 000F T = & | BARRNITRFREIRST6EHIS

A M B R EREERRMN S —REE AL

PR, AMLELH R A
% 1ME 2 E3ME
1| tkA&tEbFF > 5,290, 000/ #AL
2 BASHRIZE 5,300,000/
3 W <EIKASH 5,310, 000/
4] tRA SR ZE R 5,330,000/
5| MASHHEAREY —EX 5,350,000/
6
7
8
9
10
2]

1/1




(HPAZRAH)

S5 EE B THE AL EFHEE FIFLE | 4F 54& 58 12H
= # B B| A - 003 |T B & famEtri—75y AR TEERTE
TREMME (BidR)| 4,160,000 |T F @& B BARNUTAZERGT6EHS
A L A K e AL
P AMLELE S A
% 1[m 52 [[ % 3E
1| MMRASHEHAREY—E X 4,050, 000H &AL
2 WX <ETHASH 4, 085, 000F
3| R hFF v 4,092, 000H
4 HRar 2T BE 4,120, 000F
5 MAESHETATAT 4,130, 000MH
6| AR 4,140, 000H
T BRASH/NAER T 2R 4,140, 000/
8 HEESMALH HAEEAN 4,140, 000F
9| PR SHAGHIZERZ 4,150, 0009
10| /IMRE < HTEEA S 4,158, 000/
%

1/1




(HPAZRAH)

S5 EE B THE AL EFHEE FIFLE | 4F 54& 58 12H
= # & B A - 004 [T # & dhERty - BEEERESENLESTE
TREMME (BidR)| 3,000,000 |T F @ B BARNUTAZERGT6EHS
A L A K e AL
P AMLELE S A
% 1[m 52 [[ % 3E
1| EEEEGRASMT 2, 880, 0004
2| BARSTIEZER 2,900,000
3 BR&HEFEL 2,910,000
4 TEEEGRASMT 2,910,000
5 HRASH/NAER T 2R 2,920,000
6| HREETIIEKTE 2,930,000
7 NIREERENEHT 2,931,000
8 HEESMALH HAEEAN 2, 960, 000
9| A2 LHET 2,976, 700M
10 BREHANBEY— 2 2,980, 000
11| BERSAEERKITEIE 2,980, 000
12| BRE&ET R4 T 2,980, 0004
13| A ENEE JLEREZEM 2,980, 0004

1/2




(HPAZRAH)

S0 5 FEE EHTEHE AL ERE BALEH | &% 54 58 12 0
= B B 5 A - 004 |T = & PRERv VA EEEEREENRERLE
¥ %€ fli & (Bitk) 3,000, 0004 I ZE & fr|l BARENUFEARFEEIRST6EHLS
A LA R Had 5% AL
AL ERHSE
SIMEEZ E
#1H EoH =3[
14 AIRALEETYE 3,000, 000
&%

2/2




